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Go to a safe place where you can get help

Tell someone you trust what happened as
soon as possible

Do not throw away your clothes or
wash yourself

Put the clothes you were wearing in a
paper bag or wrap them in newspaper

Go to a hospital as soon as possible
It is advisable to report the rape to the police

Tell the police if you are threatened by the
perpetrator at any time

Get treatment and medication within 72 hours to
prevent HIV, other sexually transmitted infections
and pregnancy
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If you or someone you know is being sexually harassed or
abused, get help to stop the abuse. Speak to someone you trust,
tell your school, go to your local police station or phone one of
the following national numbers:

086 0010 111

10111

0800 055 555

011 781 2337/0861 322 322
Department of Basic Education National Hotline: 0800 20 29 33

-
-

SAPS Crime Stop:
SAPS Emergency Number:
Childline:

Lifeline:
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The structure of a worksheet

B I;l B I;l can you find that add up to 507
and discuss the topic of the worksheet.) e
9+2:|;|or10+1:|;|

10+2=|;| or7+5:l;|

1. Fill up the tens.

=10 Are there more combinations that

- will add up to ten?

Term indicator
(There are forty worksheets per term.)

=10

=10

"
3

=10

o,3+|;|=l;| b.5+|;|=|;| c.2+|;|=l;|

=10

Worksheet number Worksheet title

(Revision R1 to R16,

Ordinary 1 to 144)

o
g " Adding by filling the tens
Topic introduction -
(Tex.l, and pinUI'eS .',o help you .I,hink abouf Which sum is easier to add? Why? In one minute, how many combinations
10+4:|;| or7+7:|;|

. a6 J-O S N
Questions oo 0.0 w e -0 0.0
2. Fill up the tens.
- =40 - =30 Find another five combinations
- =20 - -70 that will add up to 100.
Colour code for content area Bl = EE ==
Content Side bar colour [vs | -0 [sexa| =0
° o o.32+|;|=|;| b‘46+|;|=|;| c,54+|;|=|;|
Revision Purple o0 o 0.0 O

Number Turquoise noe -

Patterns and
functions (algebra)

Space and shape
(geometry)

Measurement Green
Data handling

Electric blue . - o o @

Orange

Language colour code:
Afrikaans (Red), English (Blue)

3. Fill up the hundreds.

Example: 486

Example frame (in yellow)
‘0,368 ‘ ‘b 371 ‘ ‘c 684 ‘
d.519 e. 225 f. 568
\ | [ | | |
‘q, 274 ‘ ‘h 479 ‘ ‘\ 383 ‘
4. Calculate the following:

Example:

2486 + 48

=(2486+14) - 14+ 48

-
a.3526+97 = b. 6537 +84= C.4833+95= . . .

‘ ‘ ‘ Fun/challenge/problem solving activity
(This is an end of worksheet activity that may include
d.1789+39= ©.2786+56= f.8976+41= . o exe
fun or challenging activities that can also be shared
‘ with parents or brothers and sisters at home.)
g.4324+98= h.8159+62= i.6847 +73=
The concert
e Teacher assessment rating,

signature and date




Revision

Key concepts from Grade 3

WORKSHEETS R1 TO R16
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The first 16 worksheets are 990
revision activities. They V'§'@n
also summarise important

Bdse Ten CounTing concepts you need in

r Grade 4.

How many beads are there? See how fast can you count them.

XX X X X X X X )
il 3l ] ol Dl 3 3 >

O m + 4+ 44
i I & & KL &L R & & R )
< 4 _4_4_+4
O
¢ ¢ b ¢ ¢ 4
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X X X))

| wonder

what is the

fastest way to

. count? Can
1. Write down how many beads you counted? 4 you help me?

1 2 8 4 5 66 7V 8 © 10 99 12 18 94 16




continued &
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v R1b Base Ten Counting continued

<

2. Write down how many beads there are.

| made a
nice brooch
with my 111

NSNS NSNS ISP
f ¥ ¥ ¥ ¥ i W @ ® ¥ 1

‘ O = 'e's]
--=-!-!-
000080600800

| .

These blocks of beads have the same number in each as the block above. Write
down the total number of beads.

batatatatatatotatod d
SO

A\ AR R R R AR R R R R}

batatatatatatotatodod
o

nnnnnnnnnnn

1 2 8 4 5 66 7V 8 © 10 99 12 18 94 16



How quick are you?

What you need: What to do:
- Cut-out 1. - Play in pairs.

9 0 - Cut out the cards from Cut-out
sheet 1 at the back of the book.
Place them face down on your
desk.

You choose five cards and your

partner chooses five.

See who is first to give the total

number of beads on the cards.

- Check your partner’s answer.

- Do the same with 6/7/8/9/ and
10 cards.

- The person with the most
correct answers is the winner.




20

1. Match column A with column B.

Column A

2. Write the number in the correct column:

vvvvvvvvvvv

-----------

Three hundred and

o o o e o o o, o,
L T U, U, T D, e, o,

twenty-five

Number cards

Units

B 3

o|o

60

0

o

20

40 2 3 SN

1 2 8 4 8 6 7V 8 9

10 99

12 18 14 98




3. Complete the following. We have done the first one to guide you.
a.723 =7 hundreds + 2 tens + 3 units

. 648

c. 521

d.704 =

e.230 =

4. The first one is done for you. Write the other numbers also in expanded notation.
a. 654 =600 + 50 + 4

.203 =

c.745 =

d. 650 =

e. 605 =

f. 475 =

5. Write the following in words.

Q.54

. 308

c. 847

What you need:

- Cut-out 2

- Cut-out 3: Cut and fold
the dice (units to hundreds)

16 18 17 18 10 20 21

What is the size of your number:

What to do:
— Play in pairs.

Remember
zerois a

place holder. '

— Each player roles a hundreds dice (red, blue or orange dice), a fens

(green dice) and a units (yellow dice) dice.
— Each player makes his or her own 3-digit number with the number cards.
— The winner is the player with the greatest number.
— Do the same activity five fimes.

7 20




A‘
’ R3 Addition and Subtraction to 999

What do addition and subtraction mean?

What does
+

What does \
mean? r\ mean? r

1. Complete the pattern:

+ 100 + 100 + 100
a0 [ s [ a0 |
- 20 - 20 - 20
v
b.
+ 50 + 50 + 50
[T A T T |
C.
+ 30 + 30 + 30 @
Y
d.
- 40 - 40 - 40
Y
e.
Examples :
Example 1: 612 + 56 Example 2: 389 + 74
512 1+ 56 389 |+ 74
600(|10| 2 50| & 300(/80| 9 70| 4
612 + 56 389 +74
= 600+10+50+2+6 =300+80+70+9+4
= 600+60+8 = 300+150+ 13
= 668 =300+ 100+50+10+3
= 400+ 60+ 3

463

G 7 8 © 10 91 12 198 94 9k



2. Add the following using the given example.
a. 124 + 35 b. 678 + 25

124 |+ 35 678 |+ 25

124 + 35 678 + 25
100+20+30+4+5 600+70+20+8+5

Examples:
Example 1: 356 - 3 Example 2: 241 - 6

356 |-| 3 241 |-| 6

356 -3 241 -6
= 300 + 50 + (6-3) = 200+ 40 + (1 - 6)
= 300+ 50 +3 = 200+ 30+ (11 -6
= 353 = 200+30+5

= 235

3. Subtract the following using the given example.
a. 659 -5 b. 392-8

659 |-| 5 392 |[-| 8

659 - 5 392-8
600 + 50 + (9 - 5) 300 + 90 + (2-8)

17 18 10 2 21 22 28 24 286 26 7y 235 20 0
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’ R4 More Addition and Subtraction to 999
y 2

How fast can you add the following?

100 2

10

300

20

Examples:
Example 1:
212 + 456

2

100

30

200((10| 2 +

400

50

200 +400+10+50+2+6
600 + 60 + 8
668

a. 234 + 362

=+

= 200+300+30+60+4+2

C. 396 + 145

=+

300+ 100+90+40+6+5

6

10| 2
200/| |10
2 2
300//80| 7

1
10 00| 2
20
2 2
2

Example 2:
124 + 387

100((20| 4 +
= 100+300+20+80+4+7
= 400+ 100 + 11
= 500+ 10+1

= 511

1. Add the following using the examples above.

b. 644 + 213

10 99

12 18 14 9k



Examples:

Example 1: Example 2:
784 — 323 546 — 288

(700 - 300) + (80 — 20) + (4-3)

700|180 4 - |300({|20| 3 |500| 40| & - 200

80

(500 — 200) + (40 — 80) + (6 - 8)

= 400 + 60 + 1 = 300 + (30-80) + (16 -8)
= 461 = 200 + (130-80) + (16 -8)
= 200+ 50 +8
= 258

2. Subtract the following using the given example.
a. 486 -214 b. 698 — 453

(400 — 200) + (80 — 10) + (6 — 4]

C. 384 -267 d. 413-168

= (300 -200) + (80— 60) + (4-7)

What is the size of your number:

What you need: What to do:

- Use the 10s and100s - Roll the tens (green) dice.
dice made in the - Add the number landed on to the first number on
previous activity. the blue card. Write your addition sum on a piece of
- Piece of paper. _ Paper.

Do the same with the next four numbers on the blue

card.
- Repeat the activity using both the 10s and 100s dice.
- Learners check each other’'s addition sums.
- The winner is the person with the most correct answers

16 18 17 18 10 20 21 22 23 24 28 25

)
L-'-'..l]-lr f

L

Repeat the
activity using
subtraction.




Multiplic ation

We have six beads repeated four times.

This is the same as

which is the same as:

1. Complete the patterns:

a.2, 4,6,
b.3. 6.9,
c.5,10, 15,
d.4, 8,12,
e. 10,20, 30,

2. Complete the table:

Diagram Addition sum Words Multiplication sum

4+4+4
=12

Four groups
of five

%

00000
00000 3x5=15
00000

©» 49 2 8 4 8 6 ¥ 8 0O 90 M 92 98



16 18 17 18 10 20 21

. Match the cats with the mice.

a.
v | 7x3
o. [ 24 | — A 323
c 6x4
2 |
d 32 | (A Sx2
€110 ‘-—' 8 x4
4. Fill in the x and = in the right places.
a. 6 3 18 b. 16 4 4 c. 28 7 4
d. 6 6 36 e. 12 3 4 f. 7 7 49
g. 18 2 9 h. 4 12 48 . 54 9 6
. 12 7 84 k. 50 5 10 . 27 3 9
m 12 2 24 n. 9 9 81 0. 60 5 12
|
at to do:

What you need: Wh
Use the units and tens i}
dice made in the previous
activity from Cut-out 3.

Piece of paper.

Roll the units and tens dice. Multiply the two numbers. Write down the
multiplication sum with its answer.

Repeat doing this until your feacher says stop after a minute.

Give your mulfiplication sum to your friend to mark.
The winner is the person with the most correct answers.

22 25 24 28 2B

278285 - 230

xiii



’A‘ Ravisien
’ R6 More Multiplic ation
y 2

See how many sums you can make by multiplying a number from the square by
a number in a circle.

17213 )

45 6 (4)
789 @@ 6

1. Complete the table.

X

8 0 90 99 92 18 94 &




2. Solve the following problems. Use the example to guide you.
You will need extra sheets of paper to solve the problems.

Example:

The problem: A parent gives nine bags of soccer balls fo a school. Each bag contains 6 soccer

balls. How many soccer balls does the parent give away?

What is the question? How many soccer balls does the parent give away?
What are the numberse 9 (bags) and 6 (balls per bag)
What key words tell you which basic operation (+, —, x or +) to use? Each bag contains.

What operation must be used? Multiplication.

Draw a picture.

Write down a number sentence. 9 x 6 = ;I
Show the calculation. 9 x 6 = 54

Answer: The parent gives 54 soccer balls away.

a. A farmer plants 8 rows of apple trees.

There are 7 apple trees in each row.
How many apples frees are there in

total?

In one minute | can ...

Play the previous game again.

b. Ann's mother buys 5 pizzas. Each pizza
is cut into four slices. How many slices

are there altogethere

c. Mandla has three friends. Each of them
has twenty sweets. How many sweets

do they all have together?

16 17 18 19 20 21

22 75 24 28

A3 7l A3 20




Number patterns

Talk about the patterns in the table below.

1 2 3 4 | 5O 6 7 8 9
11 12 13 14 | 5> | 16 17 18 19
21 22 23 24 | C25> | 26 27 28 29
31 32 33 34 | (35> | 36 37 38 39
41 42 43 44 46 47 48 49
51 52 53 54 | (55> | 56 57 58 59
61 62 63 64 66 67 68 69
71 72 73 74 | (75> | 76 77 78 79
81 82 83 84 86 87 88 89
91 92 93 94 96 97 98 99

1. What will the next number be?
a. 40, 45,50, | b. 85,95 105, | |[ |
c. 378,379,380, |||

d. 405,410,415, L L |
e. 599,598,597, | || | £, 600,610,620, | I | ®
g. 775,780,785, L L |l | h. 800,802,804, . || |

2. Complete the following patterns.

8 0 90 99 92 18 94 &




3 Pattern fun

How fast can you get the
answer?

2 6 11 115
I I I

12 1 221 30
] | ]

18 | 33 | 45
] | ]

by O\ el N

Look at the
cards. What do - 5+6 4+5

you notice?

16 18 17 18 190 20 21 22 23 24 28 25 72/ 23 20 3
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A‘

RS Eractions

1. Divide these shapes into:
Halves

Use frachons to describe the pictures.

Quarters

2. Colour in the following fractions.

a. two quarters (%) =

b. one quarter | %) =

c. two thirds (%) =

NN

d. two halves (

):

e. three thirds ( % )=

® 9 2 8 4 B

8 0 90 99 92 18 94 &



3. Complete the table below.

Fraction circle Fraction that is green. Colour the same fraction

on this diagram.

a.

one quarter ( % ) is green

one quarter ( % )

Fractions dice and strips

Throw a dice.
Then take a fraction strip from Cut-out 4 that matches the fraction on the face of the dice.

If the face is % take a quarter strip. If you are correct keep the fraction strip.

At the end count your fraction strips.

The winner is the person with the most fractions strips.




)1‘
’ RO Mere Fractions
o

Use fractions to describe the pictures.

= one quarter

¢
i
i

$ 4
R

= one quarter

1. Share the sweets. What fraction will each child get?

l\_._

AS |
T
Y P

:s;l-'*'

2T

it
e4eise

-
Sze
1@ T e

G 7 8 © 10 91 12 198 94 9k



2. You divide 16 sweets between four children. What fraction will each
child get?

Continue on an exira sheet of paper

3. You divide 18 sweets between two children. What fraction will each get?

Confinue on an exfra sheet of paper

4. Four children each get ‘11 of 28 sweets. How many sweets does each child get?

Continue on an extra sheet of paper

Fractions dice and strips

Play this game again. See the previous lesson.

15 18 17 18 10 Z
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Money
- .
E .

’ R10
Identify all the coins and notes -
J et
209 9‘0
4 -p- i g I":I '.' 1,

c.R7,50 @ﬁﬁ@
DHY >
o0

2. Colour the blocks:
a.R2 = Green

b.R1 = Blue
c.R5=Red
d.R10 = Purple

e. R20 = Yellow

94 2 8 4 B 7 8 O 90 6 92 99 98 9%




3. Tick the correct change.
a. | bought sweets for R3,50. | paid with a RS.

=A.d.

b. | bought sweets for R4,89. | paid with a R5,00.

2636

c. | bought sweets for R7,99. | paid with R5, R2 and R2 coin.

28 E

d. | bought sweets for 910c. | paid with R10,00.

Coin rubbing and problem solving

a. Take some coins.
Make a coin rubbing by putting a coin under a piece of
paper and rubbing over the top with a crayon/pencil.
Cut out the coins and make five of your own sums.

b. Grandmother gives Palesa R12. Palesa wants to save a third
of the money. How much money must she save?

16 17 18 10 20 21 22 28 24 26 25 Z/ 25 20



How long is a metre? Can you take a step that is one metre long? How many 30
cm rulers will make 1 metre?

1. If this worm is one metre long, what is the distance from the boy to the girl?

TXXXX

2

50 N
EE - e.
2

Fill in the missing numbers on this measured line.

2m

v 8 0 10 9 92 98 94 9k



Length game

3. Use the game board to answer the questions:

100

A - space — a - metre

90

|

_:[
;|;rr|

60
(%]
-
>
A
-

50

40
m

30

20

10

We have already rolled the dice for you. The length of the line is the number of spaces you moved.
We did the first two for you, E=1 and D = 2, so you are standing on square 3 now. Carry on. Colour the
blocks as you go. The first one to finish wins.

cm

Spaces moved: Spaces moved:

metres moved: metres moved:

+1
Spaces moved:
Spaces moved:

metres moved:
metres moved:

Spaces moved:
metres moved:

Spaces moved:

metres moved:

Spaces moved:
metres moved:
Spaces moved:

Spaces moved:
metres moved:

metres moved:

Spaces moved: Spaces moved:

LLUUUOU G
LIRIRITRTIRE

metres moved: metres moved:

How many more spaces must you move to get to the finish2

16 18 17 18 190 20 21 22 23 24 28 25 72/ 23 20 3



Look at the kitchen floor.

How many tiles did | use to | _m]ﬁ = - | J ]

tile the floor?

1. Answer the following questions:

a. How many tiles did you use to tile the kitchen floor?

b. How many white tiles did you use to file the kitchen floor?

c. How many black ftiles did you use to file the kitchen floore @&

d. The girl takes one step per file. How many steps will she take to go round the

edges of the room on the tiles?

2. a. How many tiles are used to tile these floors?
b. What is the distance in tiles around the edges of each floor?

o.

v 8 0 10 9 92 98 94 9k



3. Use Cut-out 5. You also need glue and a pair of scissors.
Tile all the floors. Try and create a beautiful pattern with your tiles.

b. Total tiles:
Total distance (in tiles) around
the floor:
®
d. Total tiles:

Total distance (in tiles) around
the floor:

c. Total tiles:

Total distance (in tiles) around

the floor:

a. Total tiles:

Total distance (in
tiles) around the
floor:

A4 page ...

How many whole
files from Cut-out

5 will fit on a sheet
of A4 size paper?

16 18 17 18 10 20 21 22 23 24 28 25




)1‘
R13 Capacity
’ »

This bottle holds 1 litre.

Identify the objects in the kitchen
that can hold more or
less than 1 litre.

1. Answer the following questions:

a. What can take more water than a cup?

o

b. Is this container full or empty?

c. Is this bottle full or empty?

i

d. Which container can take more water?

=
1 m

e. Is this container full or half fulle

HT_

f. Is this bottle full2

2. Use the bottle on the left, and estimate whether the container can take more or

less than a litre.

(1 litre )

d.

h.
g

a.
t"-ill L 1. E w ?

8 © 190 94

12 18 14



3. How many bottles of water did you take to fill each measuring jug?

The picture on the left will guide you.
b.
e.

a.
4. If each jug takes 3 litres of water, how many litres of water are there in each jug?

%

Capacity fun ...

Make a list of 10 things in your house that have a capacity of 1 litre.

a. S,

XXix

16 18 17 18 190 20 21 22 23 24 28 25 72/ 23 20 3



R14 2:DiShapes and 3-D Objects
y 2

How many shapes and objects can you find?
Words that can help:

Rectangle Circle
Square Triangle

Box (Prism) Ball (Sphere)
Cylinder

1. Name the following shapes:

Q. b. .
2. Name the following objects:

a. b. C. -
3. Colour the correct word or words.

a. A b. ‘

Straight edges Curved edges Straight edges Curved edges

S B

Flat surfaces

Round surfaces Round surfaces Flat surfaces

© 9 2 8 4 8 6 ¥ 8 0 10 94 92 18 94 9k



4. Draw a line of symmetry.
q. b. C.

5. Colour dll the cylinders blue. Then write on each object if it can:
e Roll only (R) * Slide only (S) * Roll and Slide (RS)

Find pictures ...

What to do:
— Go through a magazine, newspaper or an advertisement.
— Find pictures of five things that look like a:

— cylinder
- Cube Which object was
— ball (sphere) the easiest to find?

Which object was
the most difficult to
find?




Weight (Mass)
»

Did you know that an
average pineapple
weighs 1 kg?

Identify the objects in the
kitchen that are

heavier or lighter

than a pineapple.

1. Answer the questions.

a. What is lighter than a bricka‘

b. What is heavier, a full or an empty

bag?
&

c. Is this bag heavier or lighter
than a pineapple?

2

d. Are the biscuits heavier
or lighter than the
handbag?

e. Is this bag heavy or light?

f. Is this suitcase heavy or lighte

2.
kilogram.
a. feather b. shoes
E
([ 1kg ) P &

e. school bag

©» 9 2 8 4 8 6

f. pencil case

g =

Use the object on the left to estimate whether the object is heavier or lighter than a

C. cupcake d. crayon

wo Wi

g. packet of chips

8 © 190 94
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i..'.‘-ﬂ:" r ?rkg; P 7~
kg , “Akg kg Ake

What to do:

— Make alist of 10 things in your house that weigh about 1 kilogram each.

18 16 97 18 70 20 21 22



1. Sort the fruit using the circles below. Make drawings:

apples
®

bananas strawberries

a. How many naartjies are there?

b. How many apples are there?

c. How many bananas are there?

d. How many strawberries are there?

© 9 2 8 4 8 6 ¥ 8 0 10 94 92 18 94 9k




2. Draw a pictograph.
Our favourite fruit

a. Do children like bananas or apples more?

b. Do children like strawberries or naartjies more?

c. What is the most popular fruite

d. What is the least popular fruite

Find a graph

Search through a newspaper for
graphs. Bring one example of a
graph to the classroom.

XXXV

18 918 17 918 18 20 2; 7 24 28 A5 X A3 20
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WORKSHEETS
1 to 64




S

»

Q Numbers 0 to | 000

How many cubes are there in total?

@'..

1. Count the cubes.

a.

8 ©® 10 94 92 98 94 6



2. How many cubes are there in total?

How many of
the 100 blocks
will make a

1 000 block?




S

o Vo Vo

1 12 18 94 &




A

a. @
> l
| .
d. .

4. Calculate the following:

3. Match column A with column B

What you need:
- Cut-out 1.

B
100
1
10
1 000

How quick are you?

What to do:

— Play in pairs.

— Cut out the cards from the back of your books.

— Place them face down on your desk.

— You choose five cards and your partner chooses five.
— See who can give the fotfal the quickest.

— Add 100 to your answer.

— Check your partner’s answer.

— Do the same with 6/7/8/9/10 cards. Remember to add 100.
The person with the most correct answers is the winner.

10 20 21 22




What number will these cards make?

B - -’ 798
# o]

In words ‘
8 it is \
—r Seven hundred and
ninety-eight

Seven hundred and ninety-eight

1. Complete the following:

. L3 643
b. + 2 -
9
c. + -
d. =
e. @

2. Complete the following:

a. 100+ 60 + 4 =

b. 200+ 10+ 8=

c. 900+90+9=

d. 600 + 20 =

e. 7/00+7=

3. Write the number in the correct column:

8 ©® 10 94 92 98 94 6



4. You need some coloured pencils do complete this question.
Complete the following using the first question to guide you.
a. 247 = 2 hundreds + 4 tens +

b. 892 =

c. 384 =

d. 566 =

e. 201 =
5. Complete the table below:

Expanded notation Words
a. [493
b. 200
c. | 187
d. [349
® e. |420

6. What is the value of the underlined digit?
a. 891
b. 320
c. 554
d. 632
e. 047

What to do: What you need:
— Bring a newspaper to class. - A newspaper
— Find five 3-digit numbers.

—  Write them down.

— Share with the class what each number means.

15 98 17 98 19 20 2] 22 23 24 28
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2. Fillin < or >.

a. 623 o3

505
334

©® a0 O

1. Arrange the numbers from the smallest to the biggest.

896, 689, 888, 698, 986 |
426, 626, 642, 264, 269 |
735, 365, 373, 335, 533 |
400, 404, 304, 340, 430 |
999, 292, 922, 902, 920 |

196 L1916

500
344

I
7 3 I Y

Choose a colour on the left. Find the matching colour on the right. Choose
5 numbers smaller and 5 numbers bigger than the number (where possible).

@0 -

Greater than >

3. What is the value of the digit 4 in these numbers?

a. 964l |

d. 459

]

b.o04 L
e L |

.

J< Less than

c.oasl |

© 10 99
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4. Complete the following: 8 2 5

a. Use each digit once. Make the smallest 3-digit number: | |

.

L,

[ |
o

b. Use each digit once. Make the largest 3-digit number: | |

c. You can use a digit twice. Make the smallest 3-digit number: | |

d. You can use a digit twice. Make the largest 3-digit number: | |

5. Complete the following:

You tossed some stones on a game board. This were your
result. If you add the numbers, what is the total?

Who can get the largest number?

What you need:
— The game board on the right.
— Small stones.

What to do:

— Toss your stone on the board.

— Write down the number it lands on.
— Do this ten times.

— Add the numbers.

— The winnerin a group is the person with
the biggest number.

15 18 17 18 19
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Rounding off to the nearest |0

Look at the symbols below and describe them. When we want to

write 8 rounded
off to the nearest
10 we use the

bol
/s

When we want to
write 4 + 5 is equal
to 9, we use the

bol
/ sym

Rounding off to the nearest ten.

Round off the numbers that end in a digit from 1 to 4 to the previous (lower) ten.

Example: 374 rounded off to the nearest ten would be 370.

<
<

370 371 372 373 374 375 376 377 378 379 380
Round off numbers that end in a digit from 5 to 9 to the next (higher) ten.
Example: 377 rounded off to the nearest ten would be 380.

] |

! ! ! ! ! ! ! ! ! I ! @

370 371 372 373 374 375 376 377 378 379 380
1. Round the following numbers off to the nearest ten using the number lines provided.

Q. 8= ® >
| | | | | | | | | | |
| | | | | | | | | | |
0 1 2 3 4 5 6 7 8 9 10
b. 3= °

| | | | | | | | | | |
| | | | | | | | | | |
0 1 2 3 4 5 6 7 8 9 10
C. 2=

| | | | | | | | | |
| | | | | | | | | |
0 1 2 3 4 5 1e) 7 8 9 10
d. 9 =

| | | | | | | | | | |
| | | | | | | | | | |
0 10
e 4=

| | | | | | | | | | |
| | | | | | | | | | |
0 10

® 10 9 192 98 14



2. Round the following numbers off to the nearest ten using the number lines

ﬂhg

|

provided
a. 35= °
I I I I I | I I I I I
I I I I I I I I I I I
30 31 32 33 34 35 36 37 38 39 40
b. 73 = °
| | | I | | | | | | |
I I I I I I I I I I I
70 71 72 73 74 75 76 77 78 79 80
c. 97 = °
| | | | | | | | | | |
I I I I I I I I I I I
90 91 92 93 94 95 96 97 98 99 100

a. 530 = .

| | | | | | | | | |

I I I I I I I I I I
500 600

b. 880 =

| | | | | | | | | | |

I I I I I I I I I I I
800 900

c. 360 =

| | | | | | | | | | |

I I I I I I I I I I I
300 400

Round off each of these to the nearest 10.

/

Round up and down

/

\

Blocks

£

16 18 17 18 10 20

4 Marbles )
@6 @ ILID e
o @ e C ®
0
L. ® ¥
¢ o 9

_—

o
. <
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Rounding off to the nearest 100

»

Look at the symbols below and describe them. Ty o S T

write 60 rounded
off to the nearest
100 we use the

bol
/s

When we want
to write 30 + 60 is
equal to 90, we

/ use the symbol

o~
e

Rounding off to the nearest hundred.

Round off the numbers that start with a digit from 1 to 4 to the previous (lower)
hundred. Example: 40 rounded off to the nearest hundred would be 0.

<
<

0 10 20 30 40 50 60 70 80 90 100
Round off numbers that end in a digit from 5 to 9 to the next (higher) hundred.
Example: 70 rounded off to the nearest hundred would be 100.

f
!
0 10 20 30 40 50 60 70 80 90 100

1. Round the following numbers off to the nearest hundred using the number lines
provided.

a. 1280 = /.'\ N
| | | | | | | | L\ |
| | | | | | | | | | |
1200 1210 1220 1230 1240 1250 1260 1270 \ 1280 / 1290 1300
b. 1230= /.\
|

| | | [ | | | | | | |

| | | | | | | | | | |
1200 1210 1220 1230 / 1240 1250 1260 1270 1280 1290 1300

c. 1240 =

| | | | | | | | | | |

| | | | | | | | | | |
1200 1210 1220 1230 1240 1250 1260 1270 1280 1290 1300

d. 1250 =

® 10 91 92 18 914
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2. Round the following numbers off to the nearest hundred using the
number lines provided.

+ W

.

Ly T

a. 1550 = m

| | | | | | | | | | |

| | | | | | | | | | |
1500 1510 1520 1530 1540 1550 1560 1570 1580 1590 1600

b. 1830 = o

| | | | | | | | | | |

| | | | | | | | | | |
1800 1810 1820 1830 1840 1850 1860 1870 1880 1890 1900

C. 949 =

| | | | | | | | | | |

| | | | | | | | | | |
900 910 920 930 940 950 960 970 980 990 1000

3. Round the following numbers off to the nearest hundred using the number lines
provided.

a. 1630 =

1600 1700

Rounding off

1300 1400
— Round each off to the nearest 100.

(s II\q (o /q N
\

18 16 17 18 10 20 29 72 24 28 2E

\ v

L=p}
(%)
=]
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’ Ga Number sentences
»

Here is one combination that will give you 20. How many more
combinations can you come up with? Write them down on an extra sheet
of paper.

3+17=

1. Fill in the missing number.

a. 3+7= b. 8+ =10

c. 3+ =10 d. 10 - =4

2. Fill in the missing number.

a. 13+7= b. 8+ =20

c. 3+ =20 d. 20 - =4

3. Fill in the missing number.

a. 230+70= . 240 + 60 =

C. 240 + =300 d. 230 + =300

4. Fill in the missing number.

a. 130+ 170 = b. 140 + =300

c. 130 + =300 d. 300 - =160

© 9 2 8 4 8 6 ¥ 8 0 10 94 92 18 94 9k



5. Calculate the following:

Example:

58-58=| 0 264-264=| 0 304-| O

a.46-46 = b. - =0 c.165- =165
d.37-4+4= e.2/7+6-6=

6. Calculate and show on a number line.

Example:
7+5= | 12 therefore 12-5=| 7
®
5 | | | | | | .
| | | | | |
0 2 3 4 5 6
a.8+3= therefore 11 -3 =

7. Calculate the following:

Q.47 +22 = therefore - 22 =

b.56 +31 = therefore

continued @

15 18 17 18 10 20 21 22 23 24 26 26 2/ 20 20

25,
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’ 6o Number sentences continued
»

8. Complete the equations.

Q.13+ 46= or 46+ 13 = b. 36 + 297 = or 297 + 36 =
C.27 +94= or 94 + 27 = d. 12+15=15+

e. +6= +7 f. 125+ 164 =164+

g.89 + 46 =46+ h. +49 = + 36

i. 174+132= + j. 56 -14= + 42

9. Calculate the following:

a.(3+2)+1= isthesaome as3+ (2+ 1) =

b. (31 +26)+19 = is the same as 31 + (26 + 19) =
c.51 +(13+49)= is the same as (51 + 13) + 49 =
d.(4+3)+2= +(3+2)

e.(9+6)+5=9+( +95)

f.4+(2+7)=( + ) +7

9.(8+1)+4= + (1 +4)

h. 7+(4+2) = + ) +2

L(11+3)+2=11+(

16

O 9 2 8 4 v 8 © 90 91 192 18 94 &



10. Say if the following are true or false.

a.9+8=8+9
True

b.3+6=6-3

C.7-4=4-7

d.10-5=5+10

e.8+3=3-8

f.15-10=10-15

g.4+6=6+4
®
h4d-6=6+4
i 4-6=6-4
i 4+6=6-4

k.2+(4+6)=(2+4)+6

Number problems

a. You have 40 marbles in a bag. Write down all the number sentences that will give you an answer
of 40. You should only add two numbers every time.

b. What will happen if | take any two numbers that are the same, and subtract the one from the
othere
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‘ 7a 1’ Addition up To U digits

What is the difference between the numbers?
A S N S N W N i

1 2 3 4 5 6 7 8 9 10

11 21 31 4] 51 61 71 81 21 101

1. What number comes nexi?

a. 8,9, 10,

. 20, 30, 40,

c. 55, 65,75,

d. 95,195, 295, ®

e. 645, 745, 845,

f. 912,922, 932

. Complete the table: Add to the given number.

g 4 8 6 ¥ 8 © 10 M 12 98 194 &



3. Fill in the missing number:

a. 3+ =10
b. 17 + =20
c. 90 + =100
d. 85+ =100
e. 78+ =100
f. 325+ =350
g. 312+ = 400
h. 350 + =525
i. 238+ = 400
® i. 564 + = 800

4. Complete the table.

Number Complete up to the next 10. Complete up to the next 100.

a. | 35 35+ 2= 40 35+ -2

=100

continued &
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‘ 7b9 Addifion up To U digits continued
»

Examples:
Example 1: Example 2:
134 + 123 468 + 274

100/(30| 4 +|100|/20| 3 400(/60| 8 +|200|/70| 4

100+ 100+30+20+4+3

400+200+60+70+8+ 4

= 200+ 50 +7 = 600+ 130+ 12

= 257 = 600+ 100+30+10+2
= 700+40+2
= 742

5. Use both methods above to calculate the following.

a. 644+ 120

e

= 600+ 100 + 40+ 20 + 4

. 143+ 152

v 8 8 10 91 92 18 94 16



C. 394 + 468

d. 1268+ 324

® e. 2374+ 1287

What is the size of your number?

What you need: What to do:

- Use the 10s, and 100s dice you - Individual game against a group or the
made before. class.

- Piece of paper. - Rollthe 10s dice.

— Add the number landed on, o the first
number on the blue card. Write your
addition sum on a piece of paper.

— Do the same with the 2nd to the 5th
number.

18 18 17 16 10 20 21 22



Addition problems

How fast can you answer this?

Add 800 + 30 + 5. How did the
What is the sum of 300 and 4002 blue words
help you?

How many do 100 and 500 make altogether 2 r

What three numbers have a total of 2002

Add 25 and 18.

What is the sum of 100 and 522 What word
How many altogether are 42 and 592 ,:'2::;':;'::;
Which three numbers have a total of 802 operation?

1. Solve the following problems. The pictures may guide you. Also use the blue
word.
a. Ajuice company has 260 apples. They get another 250 apples. How many
apples do they have now?

and

HH

Try to form

= a picture in l
your mind.
These are the
number of
apples.

v 8 8 10 9 92
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b. Mandla had 975 oranges. He bought another 155 oranges.
How many oranges does he have?

i. What picture do you see when you think about this problem? Draw it.

i. What operation should you use?

ii. Solve the problem. Write it down in your writing book.

Confinue on an extra sheet of paper.

c. Our class collected 421 empty plastic bottles to recycle. The other class
collected 375 bottles. How many empty plastic bottles did the two
classes collect altogethere

Continue on an exira sheet of paper.

continued @
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Continue on an exfra sheet of paper.

£
>
(7]
O
S
o
3
c
L
5=
O
O
O
O)
=
o=
0
(U]
S
(0]
o=
=
c
O
(U]
=
S
3
g
c
O
3
o
(U]
o}
0
(U]
S
=)
o=
k)
o
(0]
=
o=
=
(o]
X
o
o
—
o




@, |

- O ol
ih_-} ﬂ =

-
-rl.nl-
3. Write an appropriate and interesting word sum for: 439 and 514. Solve it.

Confinue on an extra sheet of paper.

Counting houses ...

There were - - 4 houses in Extension 4. Then
- - extra houses were built in Extension 4.

How many houses are there now in Extension 42

16 17 18 19 20 21 22 2z 24 28 26 #v



What is the difference between the numbers?

1 2

3

4

5

6

7

8

9

10

100 200

300

400

500

600

700

800

900

1 000

a. 56,7,

1. What number comes nexi?

b. 10, 20, 30,

c. 135, 235, 335,

d. 284, 294, 304,

e. 416,516, 616,

f. 574,674,774,

2. Complete the table: Subtract from the given number.

Number

Subtract 1

Subtract 10

Subtract 100

165

124

367

8 © 190 94
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3. Fill in the missing number:

continued &
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3. Write an appropriate and interesting subfraction word sum for:

723 and 189. Solve it.

Continue on an extra sheet of paper.
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Your own story

Look at the picture and make your own subtraction story.

Continue on an extra sheet of paper.
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Mathematics Grade 4 Cut-out 1
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Cut-out 2

Mathematics Grade 4
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Mathematics Grade 4 Cut-out 3

Note: Make dice from these Cut-outs. After assembling the dice, keep them in a safe place
because you will use them throughout the year.
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Mathematics Grade 4 Cut-out 4

Fraction strips

Fraction dice







Mathematics Grade 4 Cut-out 5
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